FUBAG

BS 6600 DA ES (838205)

H(z}qrfp KOJI HaNMeHOBaHHe KOJI-BO
1 2.51.03.000200 peryar 1
2 2.63.01.00371 npokiaaka 8%17*1 2
3 2.51.17.002300 caJIbHUK 8%14*5 1
4 2.63.02.006400 MOAIIUITHUK 6202 1
5 2.63.01.01567 mraHT 2000-1%6.5 1
6 2.51.04.000700 KOMMYTaTOp 1
7 2.63.01.00191 oontr M6*16 2
8 2.51.04.000300 JTaTYNK Macia 1
9 2.63.01.01717 6ont cnmuBHOM M12*15%1.5 2
10 2.63.01.00845 “pomaml‘; f;é‘j%mﬂem 2
11 2.51.01.009800 KapTep 1
12 2.51.17.002000 canbHUK 35%*52%8 1
13 2.63.01.01756 oont M6*12 1
14 2.62.01.000500 0JIOK PE3MHOBBIN 1
15 2.62.01.003000 32KUM 1




HOMep

w/n KO/ HAUMeHOBaHHe KOJI-BO
1 2.56.08.001800 KpBILIKa ABUTATENA 1
2 2.63.01.01806 6oaT M5*12 1
3 2.60.01.000200 MPOKJIAJKa KPBILIKK KapTepa 1
4 2.63.01.00404 mrudt 8§*14 2
5 2.63.02.006100 NOAMUITHUK 6207 1
6 2.63.02.006400 noamuHuk 6202 1
7 2.51.17.002000 canbHUK 35%52*8 1
8 2.63.01.01814 6oaT M8*40 7
9 2.56.08.000500 OJIOK MOTOPHBII 1
10 2.51.02.000200 PETYJISTOP CKOPOCTH Mepeaad 1
11 2.51.05.002500 KpBIIIKa KapTepa 1
12 2.51.06.001100 LIy 1




HOMep

w/n KO HaNMeHOBaHHe KO0JI-BO
1 2.63.01.01569 60aT M6*61 KpBITIIKHA TOJTIOBKH 1
WIHH]pA
2 2.50.01.005200 KpBIIIKa TOJTOBKHU IIUJIMH]IPA 1
3 2.60.09.000200 “pOKJ%?OKI;KI?P‘I’EEEPF:;”BKH 1
4 2.50.13.000200 TpyOKa camyHa 1
5 2.50.05.001400 KopoMbiciia (Habop) 2
6 2.50.09.001400 cyxapb 2
7 2.50.09.000600 Mpy>KUHA KJIanaHa 2
8 2.50.09.000400 Mpy>KHUHA KJIanaHa 2
9 2.50.09.000700 MpY’>KUHA KJIarmaHa 1
10 2.50.10.000200 IIPOKJIAJIKa BIyCKHOTO KJIallaHa 1
11 2.63.01.01780 6ont M10*85*1.25 4
12 2.63.01.01053 6ont M8*34 2
13 2.53.06.000200 cBeua 3axuranus F7TC 1
14 2.50.04.001200 KJIanaH BbITYCKHON 1
15 2.50.03.001700 KJIallaH BITyCKHOM 1
16 7.60.08.004900 MPOKJIa/IKa TOJIOBKHU OJIOKa 1
[WIMHIPOB
17 2.50.02.004100 roJjIoBKa 0JI0Ka LIUJIMHAPOB 1
18 2.63.01.00925 6ont crepxHsa 6-8*110 2
19 2.52.06.001600 KOXYX 1
20 2.63.01.01756 6ot M6*12 1




21

2.50.06.000200

I1aCTHHa

22

2.63.01.00405

mtugt 12*20

H(E}{rfp KO/l HAaUMeHOBaHUe KOJI-BO
1 2.50.11.003700 (GUIBTP BO3AYLIHBIN 1
2 2.63.01.00291 raiika M6 2
3 2.60.02.000300 MPOKJIa/IKa 1
4 2.55.02.001100 aganTep kapOroparopa 1
5 2.60.04.000300 MPOKJIa/iKa KaporopaTopa 1
6 2.55.01.002200 KapOroparop 1
7 2.60.05.000300 MPOKJIaKa BO3AYIIHOTO (DMIIBTPA 1
8 2.55.03.000200 3acJIOHKa 1
9 2.50.13.001300 KOJIBLO YIJIOTHUTEIIbHOE 1
10 2.55.04.000100 OTHOXOJIOBOH KJ1aIaH 1




H(l)'lI;[lfp KO HaAauMCHOBaHUC KO0JI-BO
1 2.53.02.000400 MOJIYITh 3aKHIAHNS 1
2 2.63.01.00914 6ot M6*25 2
3 2.53.01.001000 MAXOBHK 1
4 2.52.04.000300 BCHTUJIATOP OXJIAXKACHUA 1
5 2.52.03.002700 crakan craprepa 1
6 2.63.01.01572 raitka M16%1.5 1
7 2.63.01.01756 ot M6*12 1
8 2.52.01.130000 1

craprep




HOMEp KO/ HaUMEHOBaHHe K0JI-BO

n/n
1 2.50.07.001700 LaTyH 2
2 2.50.08.000300 TonKaTens 46mm 2
3 2.51.11.002800 HA0Op MOPIIHEBBIX KOJIEI] 1
4 2.51.08.003400 OpIIEHb 1
5 2.51.10.000300 CTOIOPHOE KOJIBLO 2
6 2.51.09.000200 naznen nopuus 14.8%920%62 1
7 2.51.12.004800 maTyH 1
8 2.51.16.005000 pactpesBal 1
9 2.51.14.001300 GanaHcup 1
10 2.51.15.018500 KOJICHBAI 1

HOMep
KO/ HAHUMEHOBaHHUe KOJI-BO
n/n

1 2.63.01.01756 Gont M6*12 2

2 2.54.01.009800 YIPaBJISIONIAs IPOCCETBHOM 1
3aCJIOHKOMN

3 2.54.02.000500 | npyxwuna gpoccenbHas ¢1.5%35.75 1
A 139mm




4 2.54.02.000600 npy>kuHa apoccenbHas ¢0.4*31.75 1
B 217mm

5 2.63.01.00291 raiika M6 1

6 2.63.01.00124 Gont M6*21 1

7 2.54.04.003500 peryasTop ckopoct 2.2MM 1

8 2.54.03.002300 1

pbIyar IpocceabHON 3aCITOHKH

H(::;{pr KO/l HAUMEHOBaHHe KOJI-BO
1 2.63.01.01815 6onT M8*40 2
2 2.52.02.000300 AJIEKTPOCTapTEP 1
3 2.53.03.000100 3apsiaKa KaTyIIKu 1
4 2.53.07.000700 MIPOBOHUK 1
5 2.63.01.01764 6ont M6*8 1
6 2.63.01.00193 6ont M6*28 2




HOMep

/i KOJQ HaAauUMCHOBaHUEC KO0JI-BO
1 2.60.03.000300 MPOKJIAIKA BBIXJIOMHOMN TPYOBI 1
2 2.50.16.000100 Ipy6a BEXTOTHAS 1
3 2.63.01.02743 o M&*32 2
4 2.63.01.01705 T — 2
5 2.63.01.00287 raitka M8 2
6 2.63.01.01705 maii6a mpysKHHHAs Q8 2
7 2.63.01.02093 maii6a miockase8 2
8 2.60.06.000600 HpOKIAZIKA Ty IHTENs 1
9 2.50.12.027000 raymmens 148mm 1
10 2.50.15.000800 L — 1
11 2.63.01.01808 6017 M8*16 4
12 2.63.01.01756 ot M6*12 1
13 2.50.14.000500 1

KPOHIITEHH BO3AYIIHOTO (PUIIBTPA




HOMep

KOO HaAaNUMCHOBaHUEC KOJI-BO
n/n
1 2.63.01.00243-1 Gont M6*185 4
2 2.56.05.000100 CYIIOPT aJIbTepHATOPA 1
3 2.56.03.000803 KJIeMMHas KOJIOIKA 1
4 2.62.01.001000 POBOJ 2
5 2.63.01.01806 6ot M5*12 5
6 2.56.04.000500 ABP 400V 1
7 2.60.10.002900 npoknaaka $6.2*D10*0.8 2
8 2.63.01.01806 Gont M5%12 2
10 2.63.01.00163-1 Goxr M5*16 2
11 2.63.01.01811 aii6a IpyKUHHAS O5 1
12 2.63.01.00446 npoksaaka 5*10%1 1
13 2.56.03.005900 1
CTaTop U POTOP
14 2.63.01.00163-1 6ot M5*16 1
15 2.56.03.000802 LETOYHbIH y3el 1
16 2.63.01.00085 Gont M5%224 2
17 2.63.01.00075-1 6ot M10%275 1
18 2.63.01.02095 1

maiba npyxunHas @10




19

2.63.01.00444-1

mai6a wrockag 10*30*4

H(;}qlfp KoJI HAaHMEHOBaHHe KO0J1-BO
1 2.57.01.068600 1
pama 408mm/32mm
2 2.57.04.039100 KPOHILTEHH 1
3 2.61.04.003900 omopa JBATATENs 2
4 2.63.01.00287 raiixa M8 2
5 2.63.01.01762 raiika M10%1.25 6
6 2.63.01.03103 Gonr M10%40%1 .25 2
7 2.63.01.03102 sunT M8*16 2
8 2.61.05.001301 pamka Onoka Gamnepa (JeBas) 2
9 2.61.05.001302 pamMka 6110ka Oammnepa (mpasas) 2
10 2.61.05.002600 oropa CyImmnopra 1
11 2.63.01.01756 Gonr M6*12 4
12 2.61.05.005900 HOKKA PE3HHOBAS 1
13 2.63.01.01777 raiika M10 2
14 2.63.01.00287 raiika M8 4
15 2.61.05.006000 4

3aranymka ©10.5




3aXUM

@

@ =\

Q) _ o 8)

S @j

Homep KO/ HANMEHOBAHHE KO0JI-BO
n/n

1 2.55.05.091100 TOIUIMBHLIN GaK 1
2 2.55.05.030701 JATYHK yPOBHS TOIUIMBA 1
3 2.55.05.024801 KPBIINIKA TOIIJIMBHOTI'O Oaka 1
4 2.55.05.026001 duisTp 1
5 2.63.01.00914 6ot M6*25 4
6 2.63.01.01812 npokazka 6*25%2 4
7 2.55.08.000700 BBIKJIIOYATENE 1
8 2.55.06.015200 uwtanr 4.5*8%180 1
9 2.55.07.003200 2




HOMep

KOJI-

w/n KO/ HAUMEHOBaHHe 5o
L] 2seonamToo | e oy | !
2 2.56.01.037101 3aHsS KPBIIIKA TaHEIN 1
3 2.56.01.157101 4acTh NaHEIU 1
4 2.56.01.011901 TIePEKITI0UATEh 1
5 2.56.01.157302 mucreit GPD-01 1
6 2.56.01.178301 pazbeM (8 KOHTAKTOB) 1
7 2.56.01.177403 BBIKJIOUATENb 8.5A 1
8 2.56.01.042304 suika EBPO 2
9 2.56.01.050201 CHJIOBAs PO3eTKA 1
10 2.56.01.158003 00T 3a3eMJICHHUSI C TalKoi 1
11 2.57.04.046300 MTAHEITH BEPXHSIS 1
12 2.63.01.01756 60T M6*12 3
13 2.63.01.00291 raiika M6 9




2)
1
HOMep
KO/l HAUMeHOBaHHe KOJI-BO
n/n
1 2.56.09.000900 akkymyssitop 14AH 1
2 2.56.10.000400 kabenp (+) 175mm 1
3 2.56.10.000300 kabensb (-) 175mm 1
4 2.57.04.041500 rIacTuHa O6arapen 1




